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3.9.5
94a (23 mawn) 2 95a (p197 910)
L. 22 mwn: courtyard opened fully up to 1"m
a.n”7, status is that of 9707 (2if someone throws from 17 to there — 27n)
i. Per: his own ruling (in re: 0215w maYn) — if the public “claims” a path, it becomes 7”m
ii. Challenge: that is only if there had originally been a 0270 717 there
1.Defense: perhaps our case is also one where there used to be a public path there
a) Block: if so, why did ®»an "1 report that the dispute was only up to the place of the wall?
b) Response: perhaps he meant "n¥nnn mpn Y»” —i.e. the dispute is only about that place
iii. Alternate explanation: dispute is about 1”07 »1% — dispute here to show position of 1117
1.That: even without fencing, still not considered 1”m1
a) Challenge: X" states “"n2wnn —i.e. from within the 9¥n (not just the edge)
b) Answer: parallel construction — 1321 said “namnn”
i. Question: why did 1327 use the term “nomnn”?
ii. Answer: their argument to 8": since from within the 9¥n he is 109; similarly from the edge
iii. Block: the 0’11 use the edge as a thoroughfare (not the middle)
b. omom: status is n9n1d (Dexempt for bringing from either 9”71 OR »"n7 to 13n)
II. s mwn: breakdown of mxmn on naw; dispute NN’ "1/°0v "1 as to their status on that naw
a./77i ’1. permissible for that naw only
b. o1 7% should be consistent; since it is 770R for the next naw =>7oR for this naw as well
i. Casel: if a 73¥n is fully breached on both sides to 1”m
1.question:if breach is <10 mny, not a breach (even on both sides); if greater — even on one side
2.27 was less than 10 — but on corner of 1¥n, where entryways aren’t placed
ii. Case2: if a house if fully breached on both sides
1.Question: why not extend n7pn » to the 27 side?
2.7 breach is on corner and roof is angled with corner
3.5xmw: in both cases, breach is greater than 10; 9¥n is Y191 even from one side; “2 sides” due to na
a) Challenge: why does n»a require 2 sides open?
i. Challenge: YrmWw (in re: N71703R) doesn’t allow for npn *a — why is even 1 side "1mn
ii. Answer: Y81 does accept NIpn  if there are only 3 open walls, not 4
b) Answer: breach in corner; roof missing to V"1 and breach jagged =4 corners need coverage
i. SN1pw. reads it this way b/c mwn doesn’t say “noadra pray”
ii. 27 must be read this way, else it is just an N1 73R (which, for him, is 1mmn)
iii. Case3: a nan’s M M5 were taken away (::fell down) on naw
III. Tangential mention of dispute between XMW1 17 re: N7ITOIR: 17 permits (DMDY T NIPN 22); YRINY prohibits (N7pn 29 8™)
a. Version1: dispute only if breach is >10; if <10, all agree that it is permitted
b. Version2: dispute only if <10; >10 agree that it is prohibited
i. Related ruling of 777’ 27 a beam v"1 wide makes a n27/n permitted (per v1 — space<10, all agree; per v2 —11)
1.Proposal: this dispute is aligned with X27/7ar re: n77028 with poles for now
2.Rejection: all agree that YRmw forbids there; only according to 11 is there room for dispute
a) Alignment: »aR — permits like 24; 817 — 27 only allowed b/c poles were made for n1703R — not for N2
IV. Final ruling —qoy 92 8»n " rules like 01 *3; 9810w rules like N *1 (permitted on that naw)
a. Challenge (to 5xmw): from his distinction between always following nT1n> 1 in 21y except for fallen mxmn
b. Answer: if it opened up to 1”m, he forbids; if to mYn13, he permits
V. "1 mwn: carrying underneath overpass/building/bridge
a. /7miy 1. permitted — similarly, carrying in a wan »nan
i. /737 cannot infer from here that N7 7 holds 8n»7I8T MxNN MY — his reason is oMY T NIPN 9
1.»wx 77 proof (that it is n7pn »9) from juxtaposition of carrying under overpass and making 211y in w»an nan
2.But: can infer it from xXn»92a re: 2 houses on opposite sides of 1M
b. owom both prohibited
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